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Question Number : 1 Question Id : 6981773826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement
Lile dlsa HALNUIL.

Options:

Habitual behavipur 12 inherited

ULEALUl], adoLs dl22AoLd, &l B,

Habits are acquired dispositions

ecl /MLEdL Sl aLs1a .

Habitual actions are performed every time in the same way

ALedalull (52120l £2 duld A su2uil 3ld 2 ©.

Habitual actions are performed with great ease

ledalull [F212il a201dLell 2L ©.

Question Number : 2 Question Id : 6981773827 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

NCF 2005 has strictly prohibited board examinations at this level

NCF 2005 34 6iLS«ll USleilail 24l 2d2 U2 Avdleell Hedls)
sl .

Options:

Clase X only

. HL>L “l28eL-10

Class XII only
HISL (l2PL-12,

2_ W
Classes V, VIII and XI
QL2LL=-0U, 0O¢ i, 11
3.
(Classes X and XII
ULR2eL=-10 sl 12
4. %

Question Number : 3 Question Id : 6981773828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The percentage of representation of parents and guardians in the school
management committee prescribed in the RTE Act, 2009

Lol eqaReiiue ALHAHL Hidl-(udl 2t ardlailed
wlaldltcadl esialdle wHLeL RTE ACT 2009 Hi

Options :

One fourth

22l &L

1. ®
Half

5 % HLSHL G
Two third

- ST
Three fourth
SOl 2 d2lal

4.

Question Number : 4 Question Id : 6981773829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Students in a primary school are found to have a very positive attitude
towards helping others. That school can be said to have accomplished the goal
of developing this domain of students

wieiHs anoudl (aetellaiil ollegiaild HEE s2dlL HIZ uWol %
USsIHS [0 Slale oL ©,



Options :

Cognitive

UsllelcH s
1, %

Affective

Alaell /7 eldd dold
2.

Conative

o« BeoLalsd doilud

Psycho-motor

sl s 2 21225 (oid)

Question Number : 5 Question Id : 6981773830 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person in his twenties has joined coaching centre for learning gymnastics
and dropped out as he could not perform. This can be attributed to the fact
that

A5 clsd ddl dladl easml wieulzes olluar wie sl
Hee ML FLSL1AL Dol GLRALOIZ o 52| 2A5dl SLEL £l 2L adnl 3,
(554 eald B....

Options :

1.4



the individual has crossed the ecritical age period for learning
gymnastics

e[S Wiel[2es sllual Hiedl 2A GHIAL dols sl
celdl £l 8.

The individual did not reach the maturation level required for

learning gymnastics

A [5d Pdllzes slluvial HIZ %321 Yuddldl 2d2 U2
usiall ausaL «2ll.

2. #®
the individual understands the guidelines for learning gymnastics
Alsd Piell2es slluial Hiedl Hpledls 3uuL un% B,
3. %
The individual have a positive attitude towards gymnastics
A[5d Pedl[2es d2g ASIRANS AdLL Y2Ld B,
4, %

Question Number : 6 Question Id : 6981773831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following first four stages of Erikson’s Paychosocial development
1n sequence 1n ascending order

Helldsilles [asiasdl (a5l [Meldel UBEL 22 dols S
2Agdl SHHL diLsdl.

Options :

1. %



Trust vs. Mistrust; Autonomy wvs. Shame and Doubt; Industry wva.
Inferiority; Imtiative vs. Gult;

[azaid » 2lazald, 2al2odl % 212H, 2l 211351,
GelH, x &lel®ilal, USE X UILUOILH

Industry ws. Infermority; Initiative wvs. Gult; Trust wvs. Mistrust:
Autonomy vs. Shame and Doubt;

Geld, x Slel®lad, USE x 2ULU6ILY,
[arzaiin » 2faalad, 2aldodl * 912K 2l 2251

Trust va. Mistrust; Autonomy vs. Shame and Doubt; Initiative vs. Gualt;
Industry vs. Inferiority

[crzaiar x aafazalal, 2aldodl x 9124 2 2419051,

USE % AUAUOILL, Gl x Sldeila
3. ¢

Industry va. Inferiority; Initiative vs. Guilt; Autonomy vs. Shame and
Doubt; Trust vs. Mistrust.

GelH x SlelGllel, UaH % 2UILUOILY,
2alldedl x H uel 29151 (A 2 wfa=aiu

Question Number : 7 Question Id : 6981773832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to self learning
B 2lluial Aoilad vig dlsa 2iLnvil,

Options :



self learning helps in learning at one’s own pace

2cL—[21810L @l5de vldldl 2l sllulail Hee 52 B,

1. #
self learning helps in strengthening the learning skills of the
individual
2l -[21&10L AlEd-Al Dualdl sotndid 2Ace s2AHL HEE
52 B,
2. %
self learning helps in setting goals of one’s choice
2a-(a80L alsd-dl uaedlldl dgals «ssl s2auHl HEee
- 53 O,

self learning can only take place in formal educational set up

2a-[ata0L 1L 2iuaLl2s Aalbls UL % s B,
4.9

Question Number : 8 Question Id : 6981773833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT an attribute of good facilitator in classroom

Aleinizll As salmanHl 2l laal s dod, «ell.

Options:

analytical thinking

[ceduoians (o
1. %



knowledgeable
ELOLSLR

use of little or no dialogue.

y Uclerdl 205l 22dl %2 Buldl «él.
3. o A

ability to bring people together

4w GLSL 2AA dlccledl EHdAL

Question Number : 9 Question Id : 6981773834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Language 18 not purely learnt by accident or conditioning and much of 1t 1s
biological and species-specific, according to

MidL HEL 2uslads Ad 5 oollsavllall <20l o0ull astdl wied
uoiud %las atd walld [alorme a0 8. 2mdL 2ded ...

Options:
Noam Chomsky

M 2S5
1. ¢

Sigmund Freud

, xRS (53



John Dewey

ogéle Sl

Lev Vygotsky
A el 5l

Question Number : 10 Question Id : 6981773835 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For ability grouping of students a teacher should consider

[cenellaildl %2 oleldcledl &HAL HEZ 35 (2185 @dul
Acllell olLOLAL.
Options :

gender

gLl 7 (@l

1. %
individual differences
- e [5dild dsladdl
roll numbers
e ol
3. %

physical characters

au2ll2s dreloisdiadl
4. %



Question Number : 11 Question Id : 6981773836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shwetha has learned about the Mughal dynasty and then of Sultannate
dynasties. In the exam she could not answer a question on Mughal dynasty as
her learning of Sultannate dynasty was interfering. The type forgetting here
13

2l HLE 2l 2ol Heil UL Ul cloll (a3l ollufl. udleuml
WHLLE ol 2050l USildl %alol « 2L A5L 3U 5 Alded
doill [adldl esdl Ad Sl 281 adl. mdl waldl 2L usl2

Options :

Proactive inhibition

Alsa wadly

1. %
Repression
- ZH-
2. %
Disuse
(Guzilil « s2cdl
3 %
Retroactive inhibition
ude il saly
4.

Question Number : 12 Question Id : 6981773837 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A student who knows to play plano has learnt to play keyboard quickly. The
transfer of learning here 1s

(Uatsil cousale soLdy [aeedl S1-608 adlsdis dad dvil
%14 . 2ludldl 1L usi2 8. ...

Options :

Negative

A5l S

Bilateral

[cusila

Positive

HSLLlHS

Zero

)
4, % L

Question Number : 13 Question Id : 6981773838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Disconnection of Stimulus Response association 1s

BElus uldaoia aioa 48l wdl HHed. ...
Options :

1.4



Extinction

[ada

Generalisation

L LH LA AL
2. %

Discrimination

HEM. L,
3. ®

Spontaneous recovery

[ 2s5all (52 Huldd)
4, %

Question Number : 14 Question Id : 6981773839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identical twing Ram and Shyam differ a lot in their academic achievement.
This can be explained by this principle

A sUHLA FUSAL UNSL AM A 2 dHsl Aalbus
Gualouailil aoll el © 2 21l [(Aealdell qHwgidl asia .

Options :

Development is predictable

- [asia saHLldd B,



Development is spiral and not linear

[asia 25l & 2 2[is 20l @usla)

2. %
Development proceeds from general to specific responses
(st amaedl (alave uldend 428 % 8.
3. %

Develppment is a joint product of both heredity and environment

(st 2udci(os wd ualaoi-oldd Az sd ulzoun
4.9

Question Number : 15 Question Id : 6981773840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The concept of ‘private speech’ was put forward by

20l clsdeasdl (a2l s, . ..

Options :
Bandura
GLLE2L

1. %

Lev Vygotsky

Gl el S
2.

Piaget
Lz,



Chomsky

4w AR5

Question Number : 16 Question Id : 6981773841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Thorndike’s this law of learning indicates the physical and mental
development of an individual to learn a subject

stlutall 24l 2lllslesell 24l [dan [ava sluadlsdl As
- . i o e -
A[5dedl 2025 ae Hilas (asi aud .

Options :

Law of Readiness

A2l [Han

Law of Effect
M2l [Han

Law of Exercise

Haldldl [«

Trial and Error

Wl el HE

Question Number : 17 Question Id : 6981773842 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ICT helps
ICTHEE 52 ,....

Options :

in equal learning among learners irrespective of their individual
differences

sllutetlzl2iiil Al Al5dod dsladie 2ldadl dlal anz
AL [Sraomi

1. %
n learning for disabled students only
HLsL [asal [aetellaild sllvaidi
2 %
in self-paced learning
Uletlell <l sflutanni
3.¥
mn learning of high 1Q students only
HLSL G2ad ollfuasails alidadl [asiellaild sllvai
4, %

Question Number : 18 Question Id : 6981773843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this type of schools, scope for diversity 1s more

2L Usl2«l auolziiHl (alaudidl 2aeiadl dy 6.



Options :

Special

[alaime
1. %

inclusive

AHLAdl

school meant for specific communities

(s, 2AHELl HIS olddl 2uLnL2il
3. %

gender specific schools

gLld ([dor) [alziee anail
4. %

Question Number : 19 Question Id : 6981773844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Teachers should consider teaching asa/an

(21815130 2lluialsaldl wlzald 240 2d sweidl =L, . ..

Options :

one time training

W5 duld«ll dldlH

one way communication

5 x W5 WP 2R



art acquired from birth, nothing to do with learning

g2l HOlE, olluiald 591 @Sl andl <l
3. %

profession which requires continuous learning

y v Ucld ualledl 2ALAUIUASALALUL AL,

Question Number : 20 Question Id : 6981773845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Subject centred paradigm of organising learning can be more appropriate for

this level

dlutdle wlliloges, [Ana5egld Beleabl 2l dolssl Hies, dy

Loz, oledl a5, ...

Options:

Pre-aschool

Ul-25d

Elementary
w1 s

Secondary

L HAls



Senior secondary

Goauda uifus
4.

Question Number : 21 Question Id : 6981773846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

L2, cl53 2iLULULL
Options :

one can have physical health without emotional health

e2A[5d Hldledled s a2 do auLllas 2alees aadl

A5 B,
1. %
one can have a sound mental health without physical health.
eA[5d adl[2s 2z dd2 USe Hidls 2aleey
alcdl as ®
2. #®
to be healthy, individuals should have physical, mental. social and
emotional health as they are interdependent
2aze) Slal Hig, alsda wlllzs, Hilus, anulys e
QUldellcd s 2ld 222 dld %O, FHE I olul AsHSs
2 i
3 ALl

emotional health depends only on physical health

HledledH s 2a1222 HLsL U225 2al2e v [Aelz &,



Question Number : 22 Question Id : 6981773847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement in promoting democracy at school

LUUML EL5ELA Vil UL H6LH AL dlsa, L0V,
Options :

in taking the decisions by the school authorities, voices of the children
must be heard
LUl AUdlddl Glal [delal dani (azneflaildl Hd Aalal
BLOH.

1.4

imn taking the decisions by the school authorities, the voices of the
academically meritorious children must be heard

ILNL HUdld> a2l ddldl [Aelaml aEfors Adlealnt
[aerieloilel Hd Adldl L.

2. %
authorities of the achool can take decisions on their own as they are
well educated
ALULLAL Aedleloll 213 [2ael wHal dlatzll vldidl 2d
(el a8 a5 .

3. %

head of the mstitution and teachers can take decisions as they are
trained
d2Al asl 2d [(Blast a4 Fndalfdal dalell
(ol a8 as 9.

4, ®



Question Number : 23 Question Id : 6981773848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement with regard to the emotional
development

Mldleds [asiai-il 2Aeelul vile alsa 20l0vil.

Options:

it depends upon the experiences of an individual

. d lSdel 2doicdl U2 241ul2 20 .
1.

1t 13 an outcome of interaction between heredity and environment

d 2ildcilals ad yalazolla sleld=-ueldd, wlouH .
2. %

1t takes place automatically as per their age as it 1s totally dependent on
genetic factor
d Ml GH2 UHLGL 2UHG 212 8 3UE d 2yel 2d

y el s UILOLUL U 24413 .
3. -

1t 13 influenced by the soeip-economice, cultural and educational factors

d wHlrs -aEls, auirglas 2 dafols ulloinell

weLlad &
4. %

Question Number : 24 Question Id : 6981773849 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Good teacher is one who

AL (28 A B, %....
Options :

talks continuously providing information

Udd HLadl 2UdL dld 52 8.

transacts only textbook material and make the children by-heart it

HISL vadSla 20l (asl % 52 8 aid ollnsld ol
dividled, 5& 9.

2. %
makes the students get good marks by conducting practice tests
Hslalledl 520181 sl adld (aauellaild 212l UisAU Anddl
53 W,

3, %
ensures the quality learning of the students
[azuzllzila aotadl wel [(Bleiel Ha d-dl vid2l 52 &

4.

Question Number : 25 Question Id : 6981773850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following helps the teacher in understanding the learners

AlAAiHizll A5, [Blersd slluvielalailed, AHFAHL HEE 52 8.

Options :



both intra and inter individual differences of learners

A2l 2id? s 2idl2s cals5dod dsladl
1.9

intra individual differences are adequate

2id2 [5ddld dslddl Udl 9.
2. %

inter individual differences are adequate

idl2s calsdod daladl uadi .

neither intra nor inter individual differences are required

wUidl(2s 5 wid2 Al5dAod dsladl %33 «2l.
4, %

Question Number : 26 Question Id : 6981773851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
From among the following, identify that 1s acquired by birth
Aliletimizll % ezl HOL © d 2(L0wil.
Options :
attitude

o [

aptitude

- anfmzl=



Interest

x ol
habits
21 LEA
4, ®

Question Number : 27 Question Id : 6981773852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Personality is dynamic

ed[5dea Goluvl &.

Options:
in all children
OLELL GLLULSIHL
1.9

only 1n out of school children

HLSL ULl Olal2«ll GLLULSIHL

only in school going children

HLL SO, %l GLLULSLHL

only in merit children

i} Hl2ealonl ol sl
4.



Question Number : 28 Question Id : 6981773853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A method that 1s useful to understand oneself based on one’s own experiences

A[Sdedl Uldledl Ad™eledl 21012 AlSdd AHBAHL Gulall

uesfd B,
Options :
Experimental
I ETE
1. %
Case Study
SU 2 AA
2. %
Introspection
uLH-AL[28101
3. ¥
Observation
AL(zateL
4, %

Question Number : 29 Question Id : 6981773854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the following, one of the following 1s NOT a purpose for conducting
evaluation of Class VII children

A3 WAL AE ULdHL IR0l olLNSld HEdisd 52l
Hieedl &d «2ll

Options:

suggesting the students to drop out from school as they do not have
required abilities to continue further studies

AL MLl 2L, 2Luidl "‘H?{Ql SHdAL L &AL ddl

GLLOLSLA 256 SLEL Bald UAAd
1.¢

giving feedback for overall development of the students

[aeriedledl 2waldll [asia 12 Hder aaal

2. %
revealing the aptitude to the students to choose future studies
APLNAL 20241 ye s2al [aanella 21foiafal oidiadl
3. %
making the students understand about their interests
(aatellaild Sl 220 2050 UL 520l
4. %

Question Number : 30 Question Id : 6981773855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In SQ4R technique of learning and memory. identify that is NOT the part of
4R's,

sllutell aid 2LE 2Aulalell SQAR 25(<isul I 20l0uil % 4R L
1oL 2l



Options :

RePea t
Yl 2lelded,

Read
ST

Reflect
wlaloiol

Review

AL
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Question Shuffling Allowed : Yes
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Question Id : 6981773856 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)

Question Label : Comprehension
31-35. <3l 2Ud oEel dild dell 3 uBdl usdldl 410y [asey

e 53

HIQMINL 2ed 2aGINL 2UPLL 42, 2ALSIULSIAL el WEIAHL
olldld]l cdldal(2s ¢INL, HIdEHWNLG Wl % Hae, 8. el [a2uldle,
dlede, AHYASdd aed apuell dvellaild e -UELd 210
MIEINIHL % 18] Ad 59 aslal Slal. HIdMNLAL HIAH gl %
IMBL 2w, @idl (2aiel 218l dld Andl a51a Sl clns Hidel
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GILASel Hel U2 BSL 91U US B 2 d Hidelld (810l A8% dd dad
B, 2Rl A[Meal5de], HIAH ULl HIQOLNL % . el Aleslds w1
ALAL[AHS cldledl lstaedl aAld] HIqMML % B, % =d UEald Aleg(ds
L2 dell HIMINLIAL YRASIHL % B0clldd &, del %0l =-UH%SAHL
HIGONL sl % 250 s 8.5 upl «dl (a2, A5l awddl 5
gled uH22lAl s SludHl Hideunl % allell dulz s dldl
. :dold, 20l IL[%EL cldslaml YBL 243% 2A6Eledl Ue% 2ld Bulil
adl @dl 8. aoll [asiid, 25ldly, 0uedl, shuges ai [auAiul
AW % GO, Hed A% MIMLAL 2AleR 28 AF [, uBL HIqeINL
d HLAMINL %, 2LMEL HIdMIMHL % uidled [Bretol fnad, %1ea, -2l
WG Aieglds  aleil dd 28 B,

Sub questions

Question Number : 31 Question Id : 6981773857 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HLd@IML Sle S&al?
Options:

AL DL, GLELA=UELA F2@ HLAELNL
1. %

UL UR, DLSLAULSLIL 2l UEAHL ollaldl calasl[2s el

5> WHed Hid L

izl (2eiel siudl el SHed HIdeinL
3, %

Sileel caadalaHl oilaldl Gl ZHed HideiL

Question Number : 32 Question Id : 6981773858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
GLLLS Hldenl 5l 2ld 2l D, 2

Options:

ARHL=2ALSL2AMLS LML &adl dld2ild dH olldl,  wiel«llil

Mgl iz Almoild

Hid® LM LAL Y51 cl2lled



Uleslds aleail Aundla

Ji[eel a2l oildld

Question Number : 33 Question Id : 6981773859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
%—d UEA«d 2lzglds dllaa ML wnaldd 9. ?

Options :

Uleslds wd sielals aaml

Uil etelleitul

Jileel caaslaHL

HLGLLMLAL Y2 SLHL

Question Number : 34 Question Id : 6981773860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Aizglds aladl winddl 12 21U8L 2 52 FLY . 2

Options :

dell (a2, =#sUl awdil 5 wled aHdL sd HI2

HideHL [2leiel Anad sLoa.
1. k3

i Ji[%El AASIRHL HIALINL % olled)l 4L,
2,

HLAGNMLIHL % ulziled [2leiol Anad, FLea.
3. ¢

ALLONLDILE, BULELA-UELA HLAOLINIHL % 52, S,
4, %

Question Number : 35 Question Id : 6981773861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

2L ILELLLSL 20104, sllls L.
Options :

G.Lﬁll_?‘ﬂ%['l-i U LELA=UEL~
1. %

dUleslds a2l

HLd LML, Jll2a
3. ¢



ulzsldas sllea

4, %

Sub-Section Number : 2
Sub-Section Id : 698177197
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981773862 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension



36-40 «lldle sl ai2fl uBeL useledl Goesdl 402 (s yaie 53l

Hel %L Yedlell a5Hd HA 35 &L dl
WAl dl 51¢ dessH 5 2l % &vtedl
WL HLSL ULl -He% -u3l < Sleateil
bluid YLl % &5, svldlsl &5 <2,
eHldl sl A «lls, «ar2-2ilai ellsul
deilell 2L 5 Bulaseanl, @i olld2
%8l alollel @l dgd Holl Aol 22f) 2481
Wl MISld AL (552 sl2alEl sally 8L,
& yaelel 2%, w2 A9l [ans «[a
sLdl Hollell 53 @ 20002 &l 2UL5HLL dL,
MLlcel, AL oL % uoL [Prele) % w5,
2l =d >l A[5dedl 28 [a22ll & auue «d.
Wl Sl dl 2aldaudul olidl 46 %
UL L 2% 5 a5HdAsAL el %32 23]
~Gulais2 el

Sub questions

Question Number : 36 Question Id : 6981773863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
slael degsHedl Scdl 22 2097
Options :

Glellel “aldledl &5 HUL3L,
1, %

. wgle [552-s[22161 283,



%Al a5HAAL %22 <[z 25,

Hev2l, Uuil2il dilz 2 eullHoild 2il-deall 2431,
4,

Question Number : 37 Question Id : 6981773864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
sla Zal 52U3L A ALSHEL SAL HISL 8.2
Options :

Holletl 5212l el Ullcded, 24L5HOL S2cL 25 B,

1.4

woglel 2alldamAnl ot dal Hsl .

ULl dessH Sleld 2ULSHLL Sl 28 9.

ceilell AL, Uddell AFLBIL L 6l 52l HISL B.

Question Number : 38 Question Id : 6981773865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



ULlell 20L5HOIHL S20l [Ruesd 22dl 8.7

Options :

L PR Sl HL ¢lls Gall saaldl [(eaid 2adl .
1.

- U2l Fsollowiel Bl Acleil [Reeaid 22dl .

ULl 2LLSHOHL ULHAL Usled dalldl [Rueaid 28dl .
3. ®

Hollell 52191 s2dlil [Rutald 226l .
4. %

Question Number : 39 Question Id : 6981773866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ML Slere 20102 s 20l

Options :

%Ll degsH

, AL s

- el 2uLsH0L

A yecll«ll esHd



Question Number : 40 Question Id : 6981773867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

IOEUHS HIE S5 6E BLNUL ‘WAl AL’

Options :
1 % cl<l=tl

HOL
2.

dl2a
3. .

oLl il
4, =
Sub-Section Number : 3
Sub-Section Id : 698177198
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 6981773868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ATzl 52l olscdlle L B2

Options :



S2LHLLL2

el

aullzz (s

U=2ILLH,

Question Number : 42 Question Id : 6981773869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

3@ 2A6e~il UL2UL UATA VL.

Options :

2 2l

w22l

g5

Question Number : 43 Question Id : 6981773870 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
“UIAZL” AL GL AHLALZL AL,
Options :

ula>l =[dxin

IS -UEs

S =

s uoL «él

Question Number : 44 Question Id : 6981773871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AlalelHizal 52l a0 Wl L [adidl 2l 2

Options:



12

el

Question Number : 45 Question Id : 6981773872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Alddeiniell 56 2ala 22dl B 2
Options :

(31 + 21z = (a1

[¢i + el=el2el

sla + Hec= salee
3. v

[+ na= (el
4, %

Question Number : 46 Question Id : 6981773873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



‘A uvllell Buz Y3l F5dL 51 €lal. ” = 2L UlSdeAl ©E "eLldl.
Options :

A B,
1. %

2>124.21

[

yecil
3. %

HELSLAL
4.

Question Number : 47 Question Id : 6981773874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“YULOLS ULY el € 287 - 53dd«ll 2L 2L W 7

Options :

- EnsHL wuladl

YHY GLIGILE S22l

[(vs0 w2l s2dl



U, dd, HULY < DY

Question Number : 48 Question Id : 6981773875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“2.590, MEL 2lel, SLA UEL WU, 7 dlSAAl USL2 %B0LLAL.

Options :

W2l dls4

“HLsllEl L5

[aalel alsa

ULE AlsA

Question Number : 49 Question Id : 6981773876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
loledl alsaed sHRMD 3Uid2 531 “Uedldt slaml dadol dly.”
Options :

| Mol GLRL Sl2AML dEbL A,



AALL UrdlI szl dla.

slAHL AARL Uolldl dly.

Ucdlad dapel elaml dly

Question Number : 50 Question Id : 6981773877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Heledely tale) alal vddlled sld siodl«l wo ool gld

‘slotelalel<l %S oLl
Options:

SREAUS AU SIULALY

H>telledl

2cllvcslel el
3. %

L S EXTEIR



Question Number : 51 Question Id : 6981773878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A LTellHirdl als2iiHiell 52 alsa [(HeL disy, 2

Options:

§ Te uLSlal 5 512 AaLdlaL.

I, AL FA D AL 2ULAE oL B,

%H Sl dH ollEL d L3 «él.

SlAYMLEAl 2ill52uHl 4 5125 adl.

Question Number : 52 Question Id : 6981773879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Al Tzl “wdaellor” «l 20120l 2o ol
Options :

el + «Ll3l

1. %

el + 3L
2.



elell + 3L
3_ w

P
el + <l + 3L

Question Number : 53 Question Id : 6981773880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ALaeAlHiell “ealHl” [l [a3lal a6 ogoLLcdl.

Options:

ALl
w

Hlzal

Question Number : 54 Question Id : 6981773881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“OlE, MY 5 «ll asc €l 85”7 = 2L sleaedl 22[UdL SoL © ?



Options :

sla sandl

, » 5la «de

. slel «sldlALe,

. sler w291 %51l

Question Number : 55 Question Id : 6981773882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MLl A6l Hidc Hel 218 YOL B, =21l dld 425 [ady s

syl Aulae cfasiedlal s, 8.9
Options :

a5l
1. %

£JLEL

aellaee

UL



Question Number : 56 Question Id : 6981773883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
wlzlHs sl 28244120l Hi2 «AlaaHizll 54 2HuS12s 9.2
Options :

WES~

[adleil Slesan

2. %
2zl Ul 526 Bl al

3.¢

4w LA

Question Number : 57 Question Id : 6981773884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ATl S2L 220 GULOLSHAL Asileds [asiad cralaaid dd
v lzld SAHL 2Ld B, ?

Options :

IH A~ HELA

1. %



ALV B adl H Lol lel=L
2. ¥

U HLULS

L=

Question Number : 58 Question Id : 6981773885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ULlels daal v dell a2l usllBbid aHlZis<dl Fisul «ls
USledl 58 ofLs 2loa «elle

Options :

ML2dla [aalmadd -2 s 2LAE

Wog2ld AUllec, asiedl-aoe lve
2. %

%2l AUllzr  aeL-ollz usLaL
3.

g2ld AUl ulawe-uaoy
4, %

Question Number : 59 Question Id : 6981773886 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
dlell ol st oluiadl olleldl ale 2uudl Hiz<dl Gdu ugld 59 B2

Options :

L UEL

2LE 2U0L del OellH 2ud

PLE L 2UGL del %L 2l

Usel2lcdd«l S2Lldd.

Question Number : 60 Question Id : 6981773887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Alaleiriell 52 asiol el (Bets«d o2

Options :

cdlel 25 [azuell uz aHLd glve i
1.

2ALEls Jld «Aolull GLLULSLel HEE 52



eoledl AGLULL GLLULSL U2 ad, t2iled 241U

3, #*
dal=tl J2loL [azlelld Hau-dl Hee 52

4, =

Language II English
SectionId : 698177122
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177199
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 6981773888 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the
correct option for each question.

One cannot forget the joyfulness of one’s childhood. Childhood is the stage of our
life in which the smallest of things gives immense pleasure. Clildren often do not feel
happy with costly things if 1t does not arouse any curiosity i them. If we remember our
childhood days. we can say. we were happy with things which we could collect on our
own, be it a piece of copper wire or a pebble or some caps of bottles. We were often
ready to play with our friends without knowing that we were learing a lot through those
plays, toys and games.

Now, that beautiful phase of our lives which we have walked past comes before
us when we observe our children as a teacher or a parent/guardian or a caregiver. As we
did 1 our childhood. our children also love to create boats and aeroplanes from paper.
They like to take rides on a tricycle. enjoy splashing water. try to catch soap bubbles,
love the company of pets, play with colourful toys. and get engaged with board games
and electronic games for hours.

Sub questions

Question Number : 61 Question Id : 6981773889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT mentioned in the passage.
Options :

piece of copper wire
a pebble

2. %

a smart phone

4 % CAPS of bottles



Question Number : 62 Question Id : 6981773890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

*That beautiful phase of our lives which we have walked past comes before us...".

The beautiful phase refers to
Options :

1 & childhood

5 % adulthood

P acher life

parenthood
%

Question Number : 63 Question Id : 6981773891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Children often do not feel happy with costly things because

Options:

they are very costly.

they do not spark any curiosity.

they are bought by the parents .



they spark curiosity.

Question Number : 64 Question Id : 6981773892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest of things gives immense pleasure. Pick the meaning of the word “immense’.
Options :

1 = lttle

uny
. u p L

tiny
3. %

huge

Question Number : 65 Question Id : 6981773893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the passage the following statement is correct.
Options :

Adults like to take rides on a tricycle.
1. %

We were eager to play with our friends, knowing that we were learning a lot from

5> % those games, toys. and plays.



Children are fond of making boats and aeroplanes out of paper.

“ Children often feel happy with the costly things.

Sub-Section Number : 2
Sub-Section Id : 698177200
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 6981773894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

We had many apples to carry.

Complete the sentence with correct option.
Options :

1.« oo

5 % 10

Question Number : 67 Question Id : 6981773895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
We can reject the unscientific and unethical nature of customs and traditions.
Choose the opposite meamng of the word ‘reject.”

Options :

| % Oppose

5 % disown

3 % challenge

accept
4. &

Question Number : 68 Question Id : 6981773896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part that contains an error in the sentence.

Most of the house in the village are verv well planned.
A B B D

Options :



Question Number : 69 Question Id : 6981773897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should to the next item on the list.

Choose the correct option to complete the sentence.
Options :

Move Ofl

mowve to

, move of

move by
4, %

Question Number : 70 Question Id : 6981773898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the option that best expresses the meaning of the idiom *Call 1t a day’.
Options:

Celebrate the day.



Get out of control.

3 ! Iy patience has run out.
E

Stop working on something.

Question Number : 71 Question Id : 6981773899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options:

acknowledjment

akenowledgment

acknowledgement

acknowledgmint

Question Number : 72 Question Id : 6981773900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Marina Beach i1s beach in India.

Choose the correct option to complete the sentence.
Options :

1% a longest

5 % an longest

3 % longest

the longest
4. g

Question Number : 73 Question Id : 6981773901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

We should how to say ‘No’ without hurting others.

Fill 1n the blank with the appropriate word.
Options :

1 ® DOW

5> know

3 % 1o

knew
4, %



Question Number : 74 Question Id : 6981773902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.
Options :

It 15 an beautiful flower.

My mother was a teacher.

Children need an lot of sleep.
3. %

I need a umbrella.

Question Number : 75 Question Id : 6981773903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The violin 15 being played by Radhika.

Select the active voice sentence.

Options :

Radhika playing the violin.
1. %

Radhika has been playing the violin.
2. %

Radhika 1s playing the violin.



Radhika was playing the violin.
4, %

Question Number : 76 Question Id : 6981773904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Shravan said, ‘I want this mobile phone.’

Choose the sentence 1n indirect speech.
Options :

Shravan said that he wanted that mobile phone.
1.9

Shravan said that I wanted that mobile phone.
2 %

. Shravan said that he has wanted that mobile phone.
3. %

Shravan said that he had wanted that mobile phone.

Question Number : 77 Question Id : 6981773905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This 1s the same lorry ran into the roadside shop yesterday.

Fill in the blank with the appropriate option.

Options:



what

2 that

this
e

4 % Who

Question Number : 78 Question Id : 6981773906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

My friend prefers coifee tea.

Fill in the blank with the appropriate option.
Options :

1 % from
than
W

1o

between

Question Number : 79 Question Id : 6981773907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options :

The weather this Winter, has been windy. wet. and unpredictable.

The weather, This winter has been windy, wet. and unpredictable.

3 % The weather this winter has been, windy, wet, and, Unpredictable.

v The weather this winter has been windy. wet and unpredictable.
4, %

Question Number : 80 Question Id : 6981773908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Whatever he says has so truth.
Pick the suitable word to fill in the blank.
Options :

more

1. %

5 much

manny

maost
4. ®



Question Number : 81 Question Id : 6981773909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The train was thirty minutes

Fill in the blank with correct option.

Options :

lately

5 % latter

3 ¢ late

latest

Question Number : 82 Question Id : 6981773910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The work must be finished Friday.

Pick the suitable option to fill in the blank.
Options:

bv
1.4 ~

from



bye

i

Question Number : 83 Question Id : 6981773911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This art craft 1s by the students.

Pick the suitable option to fill in the blank.
Options :

made
1. ¢

malke
2 %

makes
3 %

making

Question Number : 84 Question Id : 6981773912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



“Is 1t okay 1f I use your computer for a minute?”

This sentence mndicates

Options :

oranting pPernuission.

ordering.

asking for permission.

refusing permission.

Question Number : 85 Question Id : 6981773913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘My English World’ 1s the title of

Options :

. English handbook for teachers.

., Programme designed for the children.

English text books of primary level.

. English online course for the teachers.



Question Number : 86 Question Id : 6981773914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

‘LAD’ stands for

Options :

Language Acquisition Device,

Learning Acquisition Device.
2. %

Language Auto correction Device.
3. %

Last Accuracy Device.
4. ®

Question Number : 87 Question Id : 6981773915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify a discourse and assign a task to construct 1t. This task 1s part of

Options :
Silent Reading.

1. %

Pre-Reading.
2. %

Post-Reading.
3.¢



Extensive Reading.
4, % -

Question Number : 88 Question Id : 6981773916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following is a feature of ‘Student Centred Learning.’
Options :

Teacher is not a co-learner along with students.
1. %

Student learns in 1solation. not in groups.

Student’s participation in all the learning activities will be encouraged.

Assessment is done only by teachers.
4. %

Question Number : 89 Question Id : 6981773917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The following is known as ‘Magnacarta’ of Indian education during British rule.

Options :

“ Hunter Commission

Wood’s Despatch
2. ¢



Sadler Comumission

Raleigh Commission

Question Number : 90 Question Id : 6981773918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a tool of formative assessment in English at Primary School level
in Telangana State Board.

Options :

Observation

Project work

2.

Slip test
3.

Experiments
4, &

Mathematics

Section Id : 698177123
Section Number : 4

Section type : Online



Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 6981773919 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Ramana started watching cricket match at 9.30am in the morning. He

Mandatory
30
30
30

Yes

0

1
698177201
Yes

null

watched TV for 220 minutes. He stopped watching TV at

RUBL YalRell €30 sclld (532 A wlale] 23 53, dAdl 220 Rl 2ldl 2.

dl Aol sau Y 2l laws] ol 52 2
Options:

1.50 pm

1. %

, 12.10 pm

1.10 pm
3.¢

-

12.50 pm

[



Question Number : 92 Question Id : 6981773920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of three digit numbers having the same digit in the units and
hundreds place 1s:

Aul uslell Bl Fedl dveul B, FUl WsH el Ads «ll WUAH] YHled i8]
slel

Options :

9

2.v

130

60

Question Number : 93 Question Id : 6981773921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Difference of the greatest and smallest five digit numbers formed by
digits 3,0.5,2, 8 is
sl 3,0, 5, 2 Ul 8alRL oleldl 5 vislofl Hvaumluiall HedH el ofeldH

duallell dglad



Options :

64962
1.4

65038

65972

64038

Question Number : 94 Question Id : 6981773922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ravi's age is 9 years. His father’'s age is thrice his age. The ratio of Ravi's age

to his father's age after 3 years is

AA=A 61z ¢ a B, Aetl Mctell GHR Aell GuR 52t 3 2l . 3 af udl,
Al GHR W Aett Mol Gz ol ootz 9 aat?

Options :

S
]

[
[
L]



Question Number : 95 Question Id : 6981773923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Satish wants to plant trees to cover his square field completely, then the

number of plants required are

Aclat dett AR Wcra Aydl AAd gal Gousla iEd sal uidl &, dl
Al secll gall g9 2

Options :

360

Question Number : 96 Question Id : 6981773924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Leap yvear among the following 1=
ol Aettniell cllu ard 52 & 2

Options :



| % 2022

2042

2012

2002

Question Number : 97 Question Id : 6981773925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The next number in the series 4, 8. 24, 96, ______1s
el Aell 4,8, 24,96, i uddledl dveu s¢5 s31?
Options :

144
1. %

]
(']
]

192

480



Question Number : 98 Question Id : 6981773926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The difference between place value of 3 in numbers 43.26 and 4.03 1s

AUl vl 43.26 el 4.03 Ui 3 ol Ut [BHAAl dslad 3 aat?

Options :

2.97

Question Number : 99 Question Id : 6981773927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The HCF of 8, 56 and 60 1s
8, 56 el 60 o1l oL UL 9 a2l ?

Options:

L
o



Question Number : 100 Question Id : 6981773928 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers will not divide 312792 exactly?

oflAettniell 565 v 312792 o Aywl dla ewoll 2s =18l 2

Options :

6

fd

[t

Question Number : 101 Question Id : 6981773929 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Anil's school is 670 meters from his house. One day he left home and walked
215 meters. Then he reahzed that he had forgotten his science notebook. He
went back to home, collected the notebook and went back to school. The
distance travelled (in meters) by Anil on that day for gomng to school

altogether 1s

ulActell o det erell 670 Hler g2 & As Eau d uzell oAlseil wel
215 Hlez wel udl da aue wef 5 d dell [Asietell Aleys gcll a2l 8.
d 2 wel el «lleofs cllell wal 2wousl wel orl A (Ead o sa 12
uldet arzt se 56 vz (Mlezui)

Options :

(o]
(o]
N

, % 430

1315

Question Number : 102 Question Id : 6981773930 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



It 15 a four-digit number. The digit in thousands place is largest single digit.
The digit in the ones place 1s smallest natural number. Sum of even prime and
smallest odd prime 1s in the hundreds place and even prime number is in tens
place. The number 15

us AR usloll dvall B ool ot ol w5 2 wlewni UlE| As-igl dvau
8. WSHoll Lot ol U5 W allallMi ollofl ULslds Avell B, 2Acdsell 2eistui
oigl wldeuet usl atloul «tiell Al uldeusat Aualedl qanl & us
£S5l Al A8l uldeusa Hval B A vl 58 o2 ?

Options :

0320

Question Number : 103 Question Id : 6981773931 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
10000kg expressed in quintal as:

10000 (3cllonu vled 3ecu (sA-2ct al1?
Options :

1&,100



10

2. %
L % 1000
4% 1

Question Number : 104 Question Id : 6981773932 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

100 Iiters of milk 1s packed into 250 ml packets. The number of packets

made 1s;

100 (22 gual 250 Mcllett Udey Ui e B, dl Alal sect Useyd w12

Options :

4

400

40

>
#
]
LA

Question Number : 105 Question Id : 6981773933 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of factors of 18 are:
18 ol Waialel duven

Options :

4

o]

Question Number : 106 Question Id : 6981773934 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. ;o s G ; :
The product of two fractions is 6. If one of them 1s 5 e the other fraction 1=

ol wye(isl 1l aeusiz 6 9. duiell s s g 9, dl ollosl wyeds sal sla?

Options :
9

1% 10
5



17
3. ¢

3
4.% 17

Question Number : 107 Question Id : 6981773935 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An angle more than 0° and less than 90° 15 called as

% vell 0° scli Hlel wel 90° 5l oilell slat Aol 9] sdarat?
Options :

Obtuse angle

a1z slel

Acute angle

cyslel

Right angle

sleslol

Reflex angle

yldlclo slol



Question Number : 108 Question Id : 6981773936 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

v324 =

324 of Ay seq euaz

Options :

18

Question Number : 109 Question Id : 6981773937 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
5% of 60 1s
60 «ll 5% ecll aua?
Options :

12



Question Number : 110 Question Id

: 6981773938 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The angles of a triangle are in the ratio 3:4:5. The largest angle of this

triangle 1s

als (Aslotell youdletl el 3:4:5 8wl BAslewtl Hlewdl Hlel well sal

5912

Options :

Question Number : 111 Question Id

: 6981773939 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A speed 20 m /zec 1z expressed in km /hr as:

20 Hl /8505 »su o BUl/scus Ul ¥dl

Options :

T

LI

1.4

60

Question Number : 112 Question Id : 6981773940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The value of p, if 0.5p = 0.065 1s

%l 0.5p = 0.065 &laL, cll p ol (Buct 9 auar?

Options :



0.13

4. =

Question Number : 113 Question Id : 6981773941 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total surface area of a cube 1s 54 sq.cm. Then. the measure of its each
edge (In cm ) 1s:

U5 eloto] 6L Yysn 54 A &, dl, doll £35 R (ouy) of M secu Al
dlel?

Options :

¥ ¥
Lo,

L

Question Number : 114 Question Id : 6981773942 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The arithmetic mean of first five composite numbers 1s:

YU uid [Qeusa yuanalol uriel 9 ez

Options :

Tl

Question Number : 115 Question Id : 6981773943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“A student applied the knowledge of ratio and proportion in understanding
the concepts of time & work and time & distance”. then the academic

standard attained by the student 1s:

a5 (dauell 3l uHa — s el UHA — R oll VAU o Myl M2
JjellR e YniRlell sitet ofl Gualot sallll, dl udl [Qeuell szt i ada
dlaildls ulzol 52 82

Options:

1. %



Problem solving

AU (AR50

Reasoning and proof

b uel yzial
2. %

Communication

5112 [ 321

Connections

sl (Roit)
4,

Question Number : 116 Question Id : 6981773944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following steps of the project method in a sequential order.
ylgse Usldell o« A1 uarcunla sMs suui aolsdl,

Al Planning the project

Ul%wses] ulallayet

B) Creating situation
URRAAS Hniet

C) Reporting the project
ylgses{l sie sl

D) Explaining the objectives

Squll ¥uLaal

E} Executing the project

ylseadl wud

ChGDSE the correct answer.

Al [dseu ude 52
Options :

A,D,BCE,
1. %

B.D,AEC

B.AECD

AEDBC

Question Number : 117 Question Id : 6981773945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Match the following concepts to be taught with most suitable teaching

learning material:

allwacuui wiaet? «{lAe vencla dlell aloer (Blewer weaterel duofl 18l
o1l

Concepts TLM
valcl [RlateL ra1ted Mmdfl
A} Percentages 1. Solid geometrical shapes
eslcl?l tlol RS 513
B) Types of triangles 11, Grid paper
RAslotetl ysizl AR wletiatol slaLm
C) Number of edges of basic shapes m Abacus
Honecd w SRl tRedl ey : WO SY
D) Decimal numbers 1v. Geoboard
galial uveul eusiatd ellbllds s

C]].DDSE‘ the correct answer:

il [Ascu ude A
Options :

A-m1, B-1, C-1v. D-11

A-1, B-1v, C-1, D-m
2. ¢

A-11, B-iv, C-11. D1
3. %

A-1v, B-m1, C-1, D-11



Question Number : 118 Question Id : 6981773946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the advantages of the unit plan among the following:

(Al Ul WsH 2logellall llerRdlel vl

Al The unit can be completed within the allotted time.

sLACL uMH2lefl vieR Asu Yol 531 asia B.

B)  All the topics in the unit can be taught sequentially.

Asuall i ([AQuadl sM@s Ad lludl asia 9.

C} We can know which unit is to be taught in which month.

UL wiell sl ¥l 5 s2f vlsH sau 1Sl eleaclls] 8.

D) The teaching and learning materials required for the unit can be

provided.

AsH UL w37l [Qlaol wal weat2iot Aafl yelet 531 asta 8.

Chﬂ{}SE‘ the correct answer:

yl [Aseu ude 52l
Options :

C & D only
HAC&D

A B& C 011]}'

HAAB&C
2. %

A.B& D only

3 ¢ HAAB&D



ABC&D

Question Number : 119 Question Id : 6981773947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Read the following statements related to evaluation in mathematics.

ARl AHL Yeatiset dollbld o=t [Autet ail.

Statement-I :  Assessment for learning and assessment of learning

are involved in continuous comprehensive evaluation.
(Qtutet-1 - allwal Hiee] Yerliset el [Blaele] Yealiset Ydd

@IUS HeliselHi e 8.

Statement-I1 :  Continuous comprehensive evaluation mvolves

fOl‘lllB.l'i‘i'E‘ assessment and summative assessment.

(Atuet-11 . Add UUS YeRUSAHL 2UALHS HCiSet Vol

AlElud Yeauisetotl uidaL ARt 8.

ChGDSE‘ the correct answer:

UL walel ude 53U

Options :

Statement-I 1s false and Statement-11 1s true.

(Atitet-1 vile ® et [Aulet-n U B.

1. %

Statement-I 18 true and Statement-1I 15 falze.

5 % (Atltet-1 M1 & e (Auitat-nvile B.



Both the statements are false.

olal [Atuetl Wlel &.

Both the statements are true.

olol [Atuedl AUl B,
4.

Question Number : 120 Question Id : 6981773948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a topic 1s divided into several parts and spread in different classes as per
the difficulty level of the content, then the approach adopted in mathematics
curriculum 1s:

ol [Auaia Secus euolul [AewlRd sadi wad wa [Au2added Y3l xR

yoyol (Aldu aotlul setlcaidi wd, dl ALldell wenysHUML WAl atul
A Ao w8

Options:

Topical approach

L x YRDIR o

Concentric approach

sload wilelom
2.

Inter disciplinary approach

uid? (Bl ulelom
3, %



Teacher centred approach

Blets Hload el

Environmental Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 121 Question Id : 6981773949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

698177124
5

Online
Mandatory
30

30

30

Yes

0

1
698177202
Yes

null



The nutrents which are required by the human body in very small quantity

among the following are

of| Aatiuiell Miota AR wo o vl Hotmi 370 ulus deal s 92

Options :

Carbohvdrates

slodllE . uelst

Fats
. 2ol
Proteins
- Yyl
Minerals
A Wefley deal

Question Number : 122 Question Id : 6981773950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A flower that has both androecium and gynoecium 1s called as

% Ysd YEuUR el Bll3uR ool uRA & Ax sdat B

Options:

1. &



Incomplete flower

wAds@Rcd ywu

Unisexual flower

, xSl ywy
Bisexual flower
[l ywu

3. %

Staminate flower
ysuR ywy

4. %

Question Number : 123 Question Id : 6981773951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Jams and fruit juices are preserved with

olH el S0lell 2UA A=Al snccuMi vud 8?2
Options :

Salt

Hlg

1. %

Sugar

91531
2.



Honey

L MU

Ol
dct

Question Number : 124 Question Id : 6981773952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As we go upwards in Troposphere layer of Earth’s atmosphere, the temperature

will

@H BH Ul Yacllell clciaRolstl Gwiseitllar 2l Gur el ¢l

clUHL=
Options:
Increases
cd &
1. %
Decreaszes
- e &

Bemains same

YUl 25 &



Constant

R S D

Question Number : 125 Question Id : 6981773953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first hour after the accident 1= known as

wsEld udlell UM scllsel sdalal &

Options :

Critical hour

Haccyel v

Silver hour

Rcaz uua

Saving hour

ollcclsll duat

Golden hour

IES= "M

Question Number : 126 Question Id : 6981773954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The future energy resource among the following

AlRAA1uiell el 1R Goledl Bld s21l 82

Options :
Water

v yrefl

Coal

sletl

Petroleum

. gl

Natural gas

sedl ay

Question Number : 127 Question Id : 6981773955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The largest organ in human body among the following

{lAettniell Hieta 2lze] Aell H1E viol 52 B2

Options :



Bone

Ry

Liver

R

Small intestine

3 % olle] WldDS
Skin
4. o2l

Question Number : 128 Question Id : 6981773956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

World Water Day is held annually on

£2 oy (A well Rau su? dsilaz 82

Options:

2204 January

| w22 AUkl

11t April

11 Ala
2. %



2204 Narch

22 HIY

11t June

11 %ot

Question Number : 129 Question Id : 6981773957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Earthworms breathe through their

wnRa 3dl Ad Wy A &2
Options:
Skin

el

Galls

Rz

Lenticels

dldzul

Stomata

izl



Question Number : 130 Question Id : 6981773958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The plants with fibrous root system have leaves with

ddyn uRlddl astruld=a uell-ll BlRud-2uy Sar usiedl sle k2
Options:

Parallel venation

AR Blrudaun

Horizontal venation

[@lA=r duicR RrUduu

Reticulate venation

s cs? [@z1de2ux

Branched venation

bt [Q12ud-2uu

Question Number : 131 Question Id : 6981773959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following disease 1s caused due to particles of mercury

of [ Aetiuiell 2l 2oL Wilell solel 51200 2L 92

Options :
Minamata
Wl 1ttt

1. %
Pellagra

~ dauan

2. %
Diarrhea

.
Covid-19

4 % slds-19

Question Number : 132 Question Id : 6981773960 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the gas caused Bhopal tragedy among the following
olAettuiell s dluell s1R0l eluid geieetl uwie odl?
Options :

Ammonia

1w vl



Hydrogen sulphide

sLESSloyal UEsIES

Methyl Isocyanide

Meudcl Ul weSAes
3. v

Sulphur dioxide

UesR SlRsULBS
4. %

Question Number : 133 Question Id : 6981773961 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the states that come under the Western Zone of India

are

AlAAtuiell @Rdell s 2ol ulEly Aot d601 u1d B2

Options :

Gujarat, Rajasthan, Goa and Maharashtra

¥Rt 18, Jllall Wl HSRI
1.¢

Gujarat, Punjab, Himachal Pradesh and Maharashtra

I|WRUcl, Uslol, [BHIAE Ut Wel HElRL
2. %



Maharashtra, Goa. Jammu & Kashmir and Rajasthan

Haeg, ollal, w1y-s1a{lz uel et

Maharashtra, Jammu & Kashmir, Rajasthan and Gujarat

Halg, wy-s1HlR, AUt WA IR

Question Number : 134 Question Id : 6981773962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement regarding the Longitudes
gl EoLel ML [Atietal wloul
Options:

There are 90 longitudes on either side of the 0 longitude

0° 2uialefl olal ol 90 P9l D

The 90° East longitude paszes through Greenwich

90" ycl 2uigl oflassuniell vz 2wz 8

180" East/West longitude is also known as International Date Line

180° Y/ ulgli uial w1 [Eatlcz 2u” d?ls vl wlomiet 8.
3.



The time difference between two consecutive longitudes is 5 minutes

ol s[5 2wigl arA 5 MAe-Al dslad 8.

Question Number : 135 Question Id : 6981773963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the two main rivers originated in the Western Ghats

of India are

oA=L Usl, 565 & yual otelul @Rdetl uln dediell oflsicl 8.
Options :

Narmada and Tapt1

. otiel ual dindl

Mahanadi and Godavar:

Uslalel ol oLl

Erishna and Narmada

(Sreil Wl «2MEL

Erishna and Godavar

(Breil W 20eLa?l
4.



Question Number : 136 Question Id : 6981773964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These minerals are required approximately in the ratio of 4:2:1 to make steel
w@let detlaall Mie L Weflyl catelol 4:2:1 it Rl Ml %371 8.
Options :

Iron-ore, Cooking Coal and Lime Stone

813 Cluls, Riudledl sl Wel Yeolloll U2UR

Iron-ore, Manganese and Lime Stone

512 clluis, HIlells wal Yetloll v

2 ®

Cooking Coal. Iron-ore and Manganese
5w ludiell sl st cluis el Holsllos

Aluminum, Iron-ore and Lime stone

A A1, 512 Alvis W Yellall U2
4. %

Question Number : 137 Question Id : 6981773965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
During the period of Mahajanapadas, ‘Bhaga’ refers to

HSlw=1UE=ll yHa2umL eMaust ‘euor g eald &2



Options :

The share of the farmer that was equal to 5/6% of the cro
1 P

Uscotl (Sl ¥ wsell 5/6M1 el Bacl odl

1.%
The share of the king that was equal to 1,/6% of the crop as tax
ABlell (3R 2 52 13 ULsell 1/6 cotetl sdll.
2.9
The amount of tax to be paid to the king by the Grihapathis for
cultivating the land
Jjeula sizl wHlatell Ml sRal w2 2wl Ysaami wuadl
53o{l 251
3. %
The amount of tax collected and repaid to the king by the Gond Patlas
. oS wecl sl AsAd 53l et g3lell ysauAcll s+l 251

Question Number : 138 Question Id : 6981773966 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This Mughal Emperor granted Robert Clive the right to rule Bengal

L HOLEL ¥ Aee sEsdol eoim UR et salel wldsiz wnell.
Options:
Bahadurshah II

1 % GelgrWe II



Shah Alam IT
FSVIHN TT
L 4

Jahandar Shah

3 % WELER We

Akbar II

4w VBRI

Question Number : 139 Question Id : 6981773967 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. this turned out to be the first all India struggle

against the British Government although it was largely restricted to cities

oAl AAtuiell AR ¥zs1R WA L udcll WA @Rl ¥and sdl, 15 o w2
Al 232 Yyl dMd sdl

Options :

Swadeshi Movement

- g el unan
Vandemataram Movement
- clEHLcARH A0 am



The Rowlatt Satyagraha

Ade dR2ISE

The Non Cooperation Movement

WHesle Undn

Question Number : 140 Question Id : 6981773968 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

By the tume the British East India Company entered India. the Portuguese had

already established their base in this reglon of west coast of India

(@22l Sre SSdau suell ezdnl yasll @i ¥l wéollnlal azdet ulEu
(BettRlett 2 (Aretirul ldtell 2t e 531 clal sdl.

Options :
Calicut

|« sldse
Mangalore
WolAIR

2 %
Bombay
o1}

3. %

4.+



Goa

atlal

Question Number : 141 Question Id : 6981773969 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the true statement regarding the State legislative Council

of Telangana 1s

ofl Al Usl dcidon 2%t [QAuiet uRNE doildd R Aded ©.
Options :

It consists of 60 members

d 60 Mel ud 8.

1. %
The Governor nominates 1/12% members to the State Legislative Council
RA%RAUIC AL [Atllet URHEUL 1/12 Ul Yol «lDAe 52 .

2. %
The State Legislative Assembly elects 1 /3™ members to the State
legislative council
A2 (Aiet vl Qe uRne w2 173 weul Y2 .

3.¥

The members of the Legislative Council are elected for a term of 5 years

[Autet uRME=AL Yeall 5 arell Hed M2 el &,
4, %



Question Number : 142 Question Id : 6981773970 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the two acts passed by the Government of India for

the protection of Children are

of [Aettniell ottmslell el W iR ¥RS1R alRl UMIR $cldl wdal
gl2LE

Options :

The POCSO Act, 2012 and the Juvenile Justice Act. 2015

ulsyl 252 2012 Wl yd-Asc Bs2, 2015
1.¢

The POCSO Act, 2012 and the RTE Act, 2009

Ulsul vlse. 2012 el RTE vls2.2009

The RTI Act. 2005 and the Juvenile Justice Act, 2015
RTI Act, 2005 el YA Wse, 2015

The RTI Act,2005 and the Nirbaya Act, 2013
RTI Act, 2005 sl [lefau Ase, 2013

Question Number : 143 Question Id : 6981773971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of the given temperatures in the ascending order
of|2 WA AlUML=al AUSAl SHUL vlOul
(12°C,—16C,29°C,0°C, 1°C, -1°C, —=4°C)

Options :

0. 1 CAC -4 CI12C =16 29¢C

1, %

~16C, —4C, —1C, 0C, 1C, 12°C, 29C
2.

e e G, OC. T 126, 29°E
3, %

29°C, 12°C, 1C, 0C, —1C, —4C, —-16C
4, %

Question Number : 144 Question Id : 6981773972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In India. *‘Anthyodaya Cards’ are 1ssued to these people

iR dul «{lA=u Usl sau cllslol ‘vicllear si§ vucuui wd 82
Options :

The poorest of the poor families

| v ORlowl aRle uRaRla



Agricultural Laborers

s 1Rl
2 %
Below Poverty Line people
i aRlell R ol A=t sl
3.
Senior Citizens living in the rural areas
aller (Al R3ct alRws suailR sl
4. %

Question Number : 145 Question Id : 6981773973 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In Telangana EVS text books, the captions like “Look at the picture — think and

say”, “Think and say”, Discussion mn groups” represents mainly this academic

standard

dciouell EVS wisd Yretslui, Rt oyl — [QuiRl wa sslr, <Akl ua ssl,
sorall M A" Bl Faled Yuld Aelldls e % 52 9.

Options :

Conceptual understanding

x AURs Ay

Questioning and Formulating Hypothesis

yst el ycurReuel st
2.



Experiments. field observations

yploll w4 (3es [Aflae

Information skills. projects

. U dlAl a0l wa ulese

Question Number : 146 Question Id : 6981773974 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A vear plan for a particular class should be prepared for the remaining working

days by deducting the following

lAetlal olle 53l oisledl SISl [Eaml we 2ssy aol we adell wiiet
dauz s2al g,

Options :
School Working days in the academic year

i slefols adui 2umiell stuserell (€ azl
1.

World environment day

(A waaiazel Bayu

National science day

53 % gl [Qsue [Ean



Working days required for Inservice training

Adt cdlelld 12 33| sisteyell [Eaul

Question Number : 147 Question Id : 6981773975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following activity best suits for teaching “different types of houses,

Post office, Banks"?
of | Aettmiell 56 yg [usiel, Wlze Gy, disle el ogei ustll [Qu
ollwaal w2 aloe B2

Options:

Real Objects Activity

cdizclds axdgulell ugk

Chart Activity

AL yg

Fieldtrip Activity

;o Besgluygk

Picture card Activity

slel 515 ugld
4, %



Question Number : 148 Question Id : 6981773976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“Imagination of the outcomes based on known information” i1s the learning

mndicator of this academie standard.

“ogelldl MEdl vz wtnlRd uReutledl scusr 0w dal@ls wlzee] Bee
Hus 9.
Options :

Experiments and field observations

Yol w4 (3es [Aflaw

1. %
Formulation of hypothesis
yureue{l st
2.9
Conceptual understanding
daulzs uuy
3. %
Information skills and project works
S Ale{l satmcl Wel UlBse=il stal
4, %

Question Number : 149 Question Id : 6981773977 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true related to elements of teaching

learning approach?

of| et Usl 52f cusel Alviaciett wa Alucta W@l olunl Uy 92

A)

B)

The approach should help children learn how to learn

el Al ollmg A cunslal allweini Hee sl wleloM

The approach should engage children in learning activity
wlslal 2llvatell ygui care 2wl lelam
Product skills must be integral part of environmental studies teaching

learning process

Geuleat slatcal, vaiazella weany ollval we ellwaisaiell ylsatsl
(@A @loL slal 1.

The approach should be in accordance with children’s individual

differences

L W@, el slell Ut dstaiel A Yol slal Asu.

ChGﬂSE the CcOITect answer:

Al [Aseu ure 53l

Options :

A.B.C&D

A B é& C only
HAAB&C

A.B& Donly
UAAB&D

B.C & D only
HAB.C&D



Question Number : 150 Question Id : 6981773978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This committee in the report stated that school curriculum should be totally re-
organised for sharpening of natural creative abilities of students and to make

teaching meaningful.

Ul AR wBaeml weuey] & (Qenellodl sedl uy=is amdrila dy
scll el (Blaee weyol cleidal W2 sl AeasHa 538l alsacl
Alea.

Options :

Yashpal committee

SEISI i G
1.9

Ishwarbhai patel committee

Sazeuss uea 1A

Bamakrishna Rao commaittee

AUsWL a1l

Kasturi Rangan committee

5343l 221t AMA



